2022Dual Autotest No.3 2022.8.13
Result (258)

Rank [No. [|Fk ==l 5 b [1stPoint 2ndPoint]|BestPoint
T 65[E0_BA_ [RZAx PILFJ—92 39.1] 365 35.5
o olmE & |w VY NCO—R5— 38.1| 36.2 36.2
2| 3l2@m me  |[WVUY O-FIH—ND 40.2 | 36.2 36.2
i 6l%® By |OE/F NSMO_S 38.2 37.1 37.1
A EEEESE N, 37.1 | 40.8 37.1
6l 1Ll _=m_ [F35 86 735 | 38.2 38.0
71 33[®0 sk [2/VL BRZ 52.8 | 43.9 43.9
sl 10[BX =% |[2RZT* /\2o— 44.0 | 44.8 44.0
of ol@= =& [2/VL BRZ (AT) 70.6 | 44.6 14,6
0] 1% E==Z  |[2/VLWRX 54 487 | 46.8 6.8
T 1468w [hJ5  J+wk NI R | 51.3 | 50.4 50.4
2] BlERF B8 [POT<S5R—U/ WD 56.5 | 52.7 52.7
B 5% %K |[2/VLWRX S4 545 | 6556 54.5
% 8[)We Bm |—wbY 27 —IJ M35 62.2 | 63.3 62.2
Bl 4pH @ X USO—R25— 66.1 | 80.0 66.1
6] 18]BP 2@ |~3H I 97.3 | 102.9 97.3
T 21[&8 BB [ )—D2R 37.4 | 36.1 36.1
2| 28]Z (=2  |SUBARU BRZ 41.8 | 36.4 36.4
3| 26|@E %8B |7/VLR595 371| 36.6 36.6
4| 25|2K &%  [F39 86 38.6 | 38.0 38.0
5| 21[As ®|3  [LWDE>BE(TREBRZ 426 | 39.0 39.0
6] 24[68 m¥__ |/VL BRZ 50.3 | 39.6 39.6
7| 29[%%® #&  [P/VULF 595 49.0 | 416 41.6
8| 30[BEEH BT [DxILOXRDO—=4> )LD 45.7 45.0 45.0
o 22id2 B |lets play VEZEL 53.2 | 54.0 53.2
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